/o al f wy = ><l+ p o N T I I I I |
9@1 37 *& "fl S S T A O N
) fa( 3) = (-3) f__;___ B N O

IS ,f’bfts Yt

0.3 oy a2 4,024 ooc,mx (e) b
_ lo(x) = 335 +0,07239 %X (e) )
) gy = lao)

=) 4,01 +0,06Ca X |
ey M, 0= 3,5C 50,0339 x- 0,060 X

=)0,323 = (00333 -0, 06020 X

=3930+ 0339XK | dxCK =3 +3X
=) 3«7 = DXT‘Y\(
ey = ARTNK

=) 0,2% LOIR2A X 10,0132 | om | =K |y
A
s e L : (N : . by | ST = by
=5 |oole [OFEET | )
ot R 30— =5 M8, R
C) A 10t 006622000 = 150,04 ()
B 3,3C%  0,099% 2000 = JQoy.go (€) | L

= Qe 204 R0 e ~120,64 e = 24 il €

1
3 s e

[0.0% "Q}m’\ (g~ MPQ}J%
O L 5
(00 | | S -%9 _ |




